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Comparing Rate of Change Name:
Deter mine which function hasthe greater change of rate. If therateisthe same answer Answers
with 'same'.
1) A. B. 2) A. B. 1
\L\i Y =4xX \}L X |Y
o \ -10|-50 2
X ) -4 |-20
\ 0[]0 3
’l‘\ 3|15
10 | 50 4
5.
3 A. B. 4) A B.
XY Y =5xX x(X-6) X|Y __\'\\J;\)l\ 6
-8(-32 -9(-11 I\
AN 7
-3[-12 -4| -6 R
1] 4 6| 4 ~>\;£
4|16 7015 < 8
6| 24 9| 7 '
5 A. B. 6) A. B.
X|Y Y =4xX-(X+5) Y =2xX+(X-9) X
-8(-24 \\\‘
-6(-18 N
-5|-15 \C
2|6 \\
8| 24 A
7) A. B. 8) A. B.
Y =4xX X|Y X|Y Y =3xX-(X+2)
-7|-14 -9(-7
-5(-12 -6|-4
-3(-10 -5(-3
2|-5 2|0
41 -3 719
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Comparing Rate of Change

Name:. Answer Key

Deter mine which function hasthe greater change of rate. If therateisthe same answer Answers
with 'same'.
1) A B. 2) A B. 1 B
S = \/
X% Y =4xX % XY
N \ -10 | -50 2. B
X \
X g -4 |-20
\) 010 3. B
? 3115
[\
10 | 50 4 Same
5. same
3) A. B. ) A B. A
XY Y =5xXx(X-6) XY o Y
-81-32 9(-11 ™
s
'3 '12 _4 _6 v\::\’ 7 A
1] 4 6| 4 ~>\;£
4116 715 K B
6|24 9| 7 |
5 A. B. 6) A. B.
X|Y Y =4xX-(X+5) Y =2xX+(X-9) \L‘
-8|-24 X
-6(-18 2
-5[-15 X
2| 6 \C
8|24 b
7) A. B. 8) A. B.
Y =4xX XY X|Y Y =3xX-(X+2)
-7(-14 9(-7
-5]-12 -6|-4
-3(-10 -5(-3
2| -5 2|10
41 -3 719
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